WE 14
RIMGHT XA TP B R A 4=

Fg UNEE R Bg PR A #ZRmA (of)
1 FA 50 154% 1001 B )NE Gl 38.08
2 FAs0 154 1003 PN E PR 38.28
3 FA 50 154% 1105 B NE] (7] 38.18
4 Fh5t 158 1107 HLENE (L] 38.18
5 FA st 154% 1108 ERCYN (7] 38.28
6 FAsu 1584 1202 BB NE Zrdb 38.28
7 FAsu 154 1203 HENE PR 38.28
8 FA 50 154% 1306 B )NE 2] 38.18
9 ERLE 154k 1408 AN [lii):3] 38.28

10 FA 50 154% 1803 B )NE (7] 38.28
11 A0 154 1805 PPN E PR 38.18
12 FA st 154% 1907 ERCYN (7] 38.18
13 FAsu 154 1909 PPN At 38.28
14 BT 158 2002 P NE L 38.28
15 ERLEN 154 2004 PG NE PiRg 38.18
16 FAs0 154 2005 PN E PR 38.18
17 FA 50 154% 2009 B NE il 38.28
18 A0 154 2010 PN At 38.08
19 FA st 154% 206 ERCYN (7] 38.18
20 FAsu 1584 2102 BB E Zrdb 38.28
21 FHs0 154% 2310 YN At 38.08
22 FA 50 154% 2403 B )NE VGRS 38.28
23 FAs0 154 2409 LN At 38.28
24 FA 50 154% 2510 B NE il 38.08
25 A0 154 2609 PN At 38.28
26 FA st 154% 2706 ERCYN (7] 38.18
27 FHE 154k 2708 A NE [lii)z3] 38.28
28 BT 154k 2803 PN Tirg 38.28
29 FA 50 154% 2810 B )NE Gl 38.08
30 FH5t 154 2905 PN E (L] 39.55
31 FHsu 154% 3003 B NE (7] 42

32 A0 154 3005 PN E (L] 41.89
33 FA st 154% 304 ERCYN (7] 38.18
34 s 154% 308 BN 5] 38.28
35 Fh5t 154 3105 PN E [ 41.95
36 FA 50 154% 3106 B )NE VGRS 42.05
37 FAs0 154 406 PN E PR 38.18
38 FA 50 154% 508 B NE] (7] 38.28
39 F AR5t 154 601 HENE b 38.08
40 FA st 154% 602 ERCYN il 38.28
41 FAsu 154 710 PPN At 38.08
42 FAsi 1545 801 HENE b 38.08
43 FA 50 154% 802 B )NE Gl 38.28
44 FAs0 154 809 N At 38.28
45 FA 50 154% 908 BB NE (7] 38.28
46 FHsu 25k 1006 PPN E PR 38.22
47 FA st 25k 1102 ERCYN il 38.32
48 FAsu 258k 1205 PPN E () 38.22
49 FHs0 25k 1209 YN At 38.32
50 FA 50 25k 1402 B )NE Gl 38.32
51 FAs0 258k 1601 HENE 2t 38.13
52 FA 50 25k 1607 B NE (7] 38.22
53 F AR5t 25k 1608 PPN E PRy 38.32
54 FA st 25k 1705 ERCYN (7] 38.22




Fs U B PR BE5 JFE [ ERm (of)
55 FRA 25k 1808 PABNVE (] 38.32
56 FRH 25k 1903 PN [ 38.32
57 FHE 25k 1904 HENE (] 38.22
58 FH 250k 1907 PABNE (] 38.22
59 A0 25k 2007 HLENE (] 38.22
60 FA 25k 207 PABNE [ 38.22
61 FHE 258% 2105 A NE i 38.22
62 F Mz 25k 2201 BN el 38.13
63 FRHE 25k 2305 PR i) 38.22
64 FHE 258k 2510 B NE Zrdb 38.13
65 FRA 25k 2605 PABNE [ 38.22
66 A0 25k 2606 BN (i 38.22
67 FA 25k 309 PABNE At 38.32
68 FAsu 25k 403 BN (] 38.32
69 FAsi 25k 508 B NE L] 38.32
70 FRH 25k 609 PR At 38.32
71 FHE 25k 702 HENE Zrdb 38.32
72 FRH 25k 706 PABNE (] 38.22
73 A0 25k 807 HENE (] 38.22
74 ﬁf@fﬁh’;ﬁ%m% 108 2501 =Y;- S Pl 77.81
75 [N 24 0201 — )T b 38.49
76 [N 2 0202 — T (7] 38.49
77 e 245 0204 BT (] 69.7
78 [ 245 0205 BT REE 69.7
79 i85 24 0206 — BT R 69.7
80 e 245 0301 —p—)T 2t 38.49
81 s 50 2 0302 — T (7] 38.49
82 e 2% 0303 BT (] 69.7
83 [0 2 0304 “REJT [ 69.7
84 e 2 0305 BT R 69.7
85 [ 24 0402 —pi—IT PiE 38.49
86 S50 2 0403 “REJT (] 69.7
87 e 245 0404 — BT L] 69.7
88 255 24%; 0405 BT R 69.7
89 [N 2% 0406 BT R 69.7
90 [0 2 0501 — T At 38.49
91 e 245 0502 — P —IT i 38.49
92 [ 2 0503 ZREJT [iii]Ez] 69.7
93 s 50 2 0504 “REJT (] 69.7
94 e 2% 0505 — BT ZRE 69.7
95 iR 5E 24%; 0506 BT R 69.7
96 W& st 24 0507 =BT R 87.64
97 [N 2 0603 “RET [ 69.7
98 M5 st 245 0604 BT (] 69.7
99 [0 2 0606 “RET R 69.7
100 [T 285 0701 — BT #t 38.49
101 e 245 0702 — i —IT i 38.49
102 s 50 2 0703 “REJT (] 69.7
103 [N 24 0704 BT (] 69.7
104 i85 24%; 0705 BT R 69.7
105 M5 50 245 0707 =BT R 87.64
106 5 245 0804 —RJT L] 69.7
107 i85 24%; 0805 — BT R 69.7
108 [ 2% 0806 — BT ZRE 69.7
109 iR 5E 24%; 0807 =BT R 87.64
110 W& st 2% 0903 ZREJT (i 69.7




Fs U B PR BE5 JFE [ ERm (of)
111 [TRET 24%; 0905 “RET R 69.7
112 i85 24%; 0906 “REJT R 69.7
113 e 2% 0907 =BT ZRE 87.64
114 s 50 2 1001 — T At 38.49
115 [N 2% 1003 — BT [ 69.7
116 [0 2 1004 “BIT (7] 69.7
117 M5 50 2% 1006 “BIT R 69.7
118 MEZESh 245 1103 5T L] 69.7
119 S50 2H 1104 “ BT (L] 69.7
120 e 2% 1105 — BT R 69.7
121 I8R5 24%; 1106 “REJT R 69.7
122 [ 2% 1107 =BT R 87.64
123 [0 2 1201 — T At 38.49
124 M5 st 2 1203 “BIT [ 69.7
125 [ 2% 1204 5T PiE 69.7
126 i85 24 1205 “REJT R 69.7
127 e 2% 1206 — BT R 69.7
128 s 50 2 1301 — T At 38.49
129 W& st 2% 1303 — BT [ 69.7
130 [0 2 1304 “BIT (7] 69.7
131 M5 50 2 1305 “BIT R 69.7
132 MEZESh 245 1307 =BT RE 87.64
133 S50 2 1402 — T 2] 38.49
134 [ 2% 1403 — BT i 69.7
135 s 50 2 1404 “ BT (7] 69.7
136 W& st 2% 1405 — BT R 69.7
137 255 24%; 1406 “RET R 69.7
138 M5 50 2% 1407 =BT R 87.64
139 [0 2 1501 — T At 38.49
140 [T 285 1503 BT (] 69.7
141 [ 2% 1504 — BT i 69.7
142 8255 24%; 1505 “REJT R 69.7
143 [N 2% 1506 — BT R 69.7
144 255 24%; 1507 =BT R 87.64
145 [iLtei 245 1601 —p—JT b 38.49
146 MEZEsh 25 1603 —RJT [iii]Ez] 69.7
147 S50 2 1604 “ BT VGRS 69.7
148 e 2% 1605 — BT R 69.7
149 255 24%; 1607 =BT R 87.64
150 [N 2% 1704 — BT [ 69.7
151 55 24%; 1705 “REJT R 69.7
152 M5 50 2% 1706 “BIT R 69.7
153 [ 2% 1707 =P T RE 87.64
154 250 2 1801 — T At 38.49
155 [ 2% 1804 — BT i 69.7
156 iR 5E 24%; 1805 “REJT R 69.7
157 [ 2% 1806 — BT R 69.7
158 [N 2 1901 — T At 38.49
159 M5 50 2% 1903 “BIT [ 69.7
160 MEZESh 2H5 1904 —RJT [iii]Ez] 69.7
161 i85 24 1905 “REJT R 69.7
162 e 2% 1906 — BT R 69.7
163 iR 5E 24%; 1907 =BT R 87.64
164 [liLtei 24 2001 — )T b 38.49
165 [0 2 2003 “BIT (7] 69.7
166 [N 2 2005 “BIT R 69.7
167 [IET 24%; 2006 —RETIT R 69.7




Fs U B PR BE5 JFE [ ERm (of)
168 [0 24%; 2103 “BIT (] 69.7
169 250 24%; 2104 “ BT [ 69.7
170 e 245 2105 — BT ZRE 69.7
171 855 24%; 2106 “REJT R 69.7
172 [liLtei 24 2201 — )T b 38.49
173 [0 24%; 2203 “BIT [ 69.7
174 M5 50 245 2204 “BIT [ 69.7
175 [ 245 2205 BT REE 69.7
176 S50 245 2301 — T At 38.49
177 e 245 2303 — BT i 69.7
178 s 50 24%; 2304 — BT [ 69.7
179 [ 24 2305 — BT R 69.7
180 55 24%; 2306 “REJT R 69.7
181 M5 st 24%; 2307 =BT R 87.64
182 [liLte%n 24 2401 —p—)T b 38.49
183 S50 24 2403 “ BT [ 69.7
184 e 245 2405 — BT ZRE 69.7
185 8255 24%; 2406 “REJT R 69.7
186 W& st 24 2407 =BT R 87.64
187 [0 24%; 2501 — T At 38.49
188 M5 50 245 2504 “BIT [ 69.7
189 [ 245 2505 BT RE 69.7
190 i85 24%; 2506 “REJT R 69.7
191 [ 245 2604 — BT i 69.7
192 8255 24%; 2605 “REJT R 69.7
193 W& st 24 2606 — BT R 69.7
194 [N 24%; 2701 — T At 38.49
195 M5 50 245 2704 “BIT [ 69.7
196 [IET 24%; 2705 “RET R 69.7
197 Iz At 244 2706 —REIIT <R 69.7
198 [ 245 2707 =5 T ZRE 87.64
199 s 50 24%; 2803 “ BT (] 69.7
200 [N 24 2804 — BT [ 69.7
201 255 24%; 2805 “RET R 69.7
202 M5 50 245 2806 “BIT R 69.7
203 5t 245 2807 =BT R 87.64
204 S50 24%; 2901 — T At 38.49
205 e 245 2905 — BT R 69.7
206 s 50 24%; 2906 — BT ARH 69.7
207 [N 24 2907 =BT R 87.64
208 55 24%; 3005 “REJT R 69.7
209 M5 50 245 3006 “BIT R 69.7
210 [liLte% 24 3101 —p—)T b 38.49
211 250 24%; 3104 “ BT (] 69.7
212 [ 245 3105 — BT ZRE 69.7
213 iR 5E 24%; 3106 “REJT R 69.7
214 [liLtei 245 3107 =BT i 87.64
215 [N 24%; 3203 “BIT [ 69.7
216 M5 50 245 3204 “BIT [ 69.7
217 [ 244 3205 BT REE 69.7
218 i85 24 3206 “REJT R 69.7
219 [liLte%i 245 3301 —p—)T 2t 38.49
220 s 50 24%; 3303 “ BT (] 69.7
221 [N 24 3304 — BT [ 69.7
222 55 24%; 3305 “RET R 69.7
223 [N 245 3306 “BIT R 69.7
224 [IET 24%; 3307 =BT R 87.64




Fs U B PR BE5 JFE [ ERm (of)
225 [0 2 3401 — T At 38.49
226 250 2 3404 “ BT VGRS 69.7
227 e 2% 3405 — BT R 69.7
228 855 24%; 3406 “REJT R 69.7
229 [N 2% 3407 =BT R 87.64
230 | AR IL—H 2HFARIC 0102 =BT At 72.18
231 | FEEUIRIL—IY] 2HFABATT 0202 =BT b 72.18
232 | FEEHIRIL—IY] 2HAHTT 0302 =BT =k 72.18
233 | mEARIL—1 2HFA I 0403 =BT i) 87.25
234 | FEHIRIL—IY) 2HFABAIT 0602 =5 T b 72.18
235 | MR IL—1 2HFA L 0702 =BT At 72.18
236 | FEEUIRIL—IY] 2HFABAIT 0902 =BT |4 72.18
237 | MR IL— 2HFAFIC 1102 =BT At 72.18
238 | R IL—IY] SHFABAIT 0201 =BT [ 75.8
239 | FEEHIRIL—IY SHFABAIT 0502 =P T PiE 75.03
240 | MR IL—1 AR 0601 =BT [ 75.8
241 | FEEHIRIL—IY) 3HFABAIT 1002 =BT i 75.03
242 | MR IL— AAFARAIC 0201 “REJT (] 60.37
243 | FEEIRIL—IY] ANRA AT 0203 — BT R 63.75
244 | FEAIRIL—1 AAFAPAIC 0404 “RET R 62.44
245 | FEEAIRIL— AFFABATT 0406 T Feld 62.4
246 | EEIRARLL—I AFFARTT 0501 BT (i) 59
247 | mEARIL—1 AAFAFRIC 0601 “REJT (] 59
248 | FEIRIL—IY) AMRA AT 0602 — BT i 58.72
249 | mEARIL— AAFAFAIC 0605 “REJT At 58.72
250 | FIEUIRIL—IY] ANRA AT 0703 — BT R 62.31
251 | AR IL— 4HB BT 0308 “RET At 63.16
252 | FEIEUIRIL—IY] 4B AT 0407 “BIT [ 62.53
253 | MR IL—1 AHB BT 0409 “RET (] 62.4
254 | FEIAIRIL—I 4B 0507 “ BT VE R 62.53
255 | R IL—IY) 5B AT 0508 — BT |4 62.4
256 | MR IL—1 AHB BT 0509 “REJT (] 62.4
257 | FEEUIRIL—IY) AFB AT 0510 — BT |4 62.4
258 | MR IL—H 4HB BT 0511 “RET [ 62.4
259 | IR IL—IY] 4B AT 0607 “BIT [ 62.53
260 | IR IL—Ib] 4B T 0610 5T =t 62.4
261 | mdARIL—1 AHB BT 0614 “REJT At 58.72
262 | FEUIRIL—IY) AFB AT 0707 — BT i 62.53
263 | mEARIL— AHB BT 0710 “REJT At 62.4
264 | FEEUIRIL—IY] AFB AT 0801 — BT [ 62.77
265 | mEAIRIL—1 4HB BT 0808 “REJT At 58.94
266 | R IL—IY] 4B AT 0905 “BIT b 62.35
267 | FEEHIRIL—IY AFB AT 0907 5T i 58.75
268 | FEUNIRIL— AFB BT 1001 “ BT 2] 62.48
269 | FFEUIRIL—IY] 5B AT 1003 — BT i 62.35
270 | mEARIL—1 AHB BT 1005 “REJT At 62.35
271 | FEEUIRIL—IY] AFBEATT 1006 — BT b 62.35
272 [ 1% 0201 PABNE [liE]# 36.43
273 W25t 1#k 0204 BN [LE[7 36.33
274 M2zt 1#5 0205 BN Tt 36.33
275 5425t 1H%5 0206 LN [liE]e 36.43
276 M5t 1k 0312 B NE L] 36.43
277 5425t 1 0407 PABNE (] 36.43
278 M54 50 1% 0508 BN [ 36.33
279 [ 1% 0509 PABNE [ 36.33
280 54250 1% 0516 HLENE R 36.24
281 sz 5t 1% 0603 PABYNVE [liE]d 36.33




Fs U B PR BE5 JFE [ ERm (of)
282 525t 1% 0610 PABNVE VGRS 36.33
283 54250 1H%5 0611 PN VGRS 36.33
284 M5t 1k 0711 B NE (] 36.33
285 5425t 1 0713 B )NE At 36.43
286 M54 50 1% 0801 HLENE [iE[4 36.42
287 sz 50 1% 1013 ERCYN At 36.43
288 W25t 1#k 1014 BN b 36.33
289 M2zt 1k 1104 BN Tt 36.33
290 5425t 1#% 1108 PR (L] 36.33
291 M5t 1k 1114 B NE 2t 36.33
292 5425t 1% 1307 PABNE (7] 36.43
293 M5t 1#k 1314 BN b 36.33
294 sz 50 1% 1401 ERCYN [liE]# 36.42
295 54250 1% 1410 HLENE (] 36.33
296 M50 1% 1415 HBNE Ak 36.33
297 5425t 1H%5 1505 B )NE [liE]e 36.33
298 M5t 1k 1511 B NE L] 36.33
299 5425t 1 1512 PABNE (7] 36.43
300 M54 50 1% 1513 HENE b 36.43
301 [ 1#4 1517 PRGN R 36.43
302 M54 50 1% 1607 HLENE (] 36.43
303 | R4S 21%BJAE 014D —p—IT R 68.14
304 | HEAERN 2H:BJEE 024A T R 66.48
305 | #HELRERE 2#5BJE 027A BT REE 66.48
306 | @A 214:BJE 029A —B—IT ARH 66.48
307 | WEAERN 2#5BJE 034D BT ZREd 68.14
308 | HEARERMN 2HRBJEE 034F BT R 67.17




